

$$2) \cdot T_x = \sum x_n a_n \text{ je prvek } (c_0)^* \Leftrightarrow \{a_n\} \in \ell_1$$

Def.: \Leftarrow uita o reprezentaci

$$\Rightarrow T \in (c_0)^* \Rightarrow \exists \{b_n\} \in \ell_1, T_x = \sum x_n b_n \Rightarrow a_n = b_n \Rightarrow \{a_n\} \in \ell_1$$

$$\text{Teď } T \in (c_0)^* \Leftrightarrow \sum (|a_n|)^{\alpha} \text{ konv. } \Leftrightarrow \sum |x_n|^{\alpha} \text{ konv. } \Leftrightarrow \alpha > 1$$

$$\text{že } \|T\|_{(c_0)^*} = \sum (|a_n|)^{\alpha}$$

$$\cdot T \in (\ell_1)^* \Leftrightarrow \{a_n\} \in \ell_{\infty} \text{ (dle jakeho ujiťe) } \Leftrightarrow$$

$$\Leftrightarrow \{(|a_n|)^{\alpha}\} \in \ell_{\infty} \Leftrightarrow \alpha \geq 0$$

$$\cdot T \in (\ell_{\infty})^* \Rightarrow T1 = \sum (|a_n|)^{\alpha} < \infty \Rightarrow \sum (|a_n|)^{\alpha} < \infty \Rightarrow \alpha > 1$$

$$\alpha > 1 \Rightarrow \|Tx\| \leq \sum |x_n| (|a_n|)^{\alpha} \leq \|x\|_{\infty} \sum (|a_n|)^{\alpha}$$

$$\text{Teď } T \in (\ell_{\infty})^* \Leftrightarrow \alpha > 1$$

$$b) \cdot Tf = f + Kf, \text{ kde } Kf(x) = \int_0^x f. \text{ Jeliže } K \in \mathcal{K}(X) \text{ (viz Arzelà-Ascoli) a } T = I + K, \text{ není } T \text{ leptná. Nicméně}$$

$$T \in \mathcal{L}(X).$$

$$\cdot Tf = \lambda f \Rightarrow f + Kf = \lambda f$$

$$Kf = (\lambda - 1)f$$

$$\cdot \lambda = 1 \Rightarrow Kf = 0 \Rightarrow f = 0$$

$$\cdot \lambda \neq 1 \Rightarrow \text{leč derivovat } \Rightarrow f(x) = (\lambda - 1)f'(x) \Rightarrow f'(x) = e^{-\frac{x}{\lambda-1}} \cdot c$$

$$0 = f(0) \Rightarrow c = 0 \Rightarrow f \equiv 0$$

$$\Rightarrow \mathcal{K}_p(T) = \{0\}$$

$\lambda \neq 1, F(x) := \int_0^x f, \lambda \in \mathbb{R}$ même

• $(\lambda I - T)f = g$

$\lambda f - f - kf = g$

$(\lambda - 1)f - kf = g$

$\lambda = 1, -kf = g$

$k(x) \subset \{ \text{positive dif. funt} \}$

tedy staci vzit $g \in X$ nef. a

$g \notin \text{Rng } K, \text{ k. rovnice nemá řešení}$

$(\lambda - 1)F' - F = g$

homogenni rovnice: $(\lambda - 1)F' - F = 0$

$F = e^{\frac{1}{\lambda-1}x} + c$

varia konstant:

$F' = \frac{1}{\lambda-1} e^{\frac{1}{\lambda-1}x} + c' e^{\frac{1}{\lambda-1}x}$

$g = (\lambda - 1)F' - F = e^{\frac{1}{\lambda-1}x} c + (\lambda - 1)c' e^{\frac{1}{\lambda-1}x} - c e^{\frac{1}{\lambda-1}x}$

$\Rightarrow c(x) = \frac{1}{\lambda-1} g(x) e^{-\frac{x}{\lambda-1}}$

$c(x) = \int_0^x \frac{1}{\lambda-1} g(t) e^{-\frac{t}{\lambda-1}} dt$

$\Rightarrow F(x) = \frac{e^{\frac{x}{\lambda-1}}}{\lambda-1} \int_0^x g(t) e^{-\frac{t}{\lambda-1}} dt$

$f(x) = F'(x) = \frac{1}{\lambda-1} \left[\frac{1}{\lambda-1} e^{\frac{x}{\lambda-1}} \int_0^x g(t) e^{-\frac{t}{\lambda-1}} dt + e^{\frac{x}{\lambda-1}} g(x) e^{-\frac{x}{\lambda-1}} \right]$
 $= \frac{1}{\lambda-1} \left[\frac{1}{\lambda-1} e^{\frac{x}{\lambda-1}} \int_0^x g(t) e^{-\frac{t}{\lambda-1}} dt + g(x) \right]$

$\Rightarrow \sigma(T) = \{1\}$